LASER INTERFEROMETER GRAVITATIONAL WAVE OBSERVATORY
-LIGO -

CALIFORNIA INSTITUTE OF TECHNOLOGY
MASSACHUSETTSINSTITUTE OF TECHNOLOGY

Document Type DCC Number Date
Technical Note L1GO-D-010244-00-R 30™ October 2001

L1GO-II Seismic Attenuation System (SAS) test tower

Horizontal Accelerometer Mechanical drawings

Alessandro Bertolini (Universita’ di Pisa),Gianni Gennaro (PROMEC),

Riccardo DeSalvo (L1GO)

Distribution of this draft: TBD
Thisisan internal working note
of the LIGO Project.

Cdlifornia Institute of Technology Massachusetts I nstitute of Technology
LIGO Laboratory - MS 18-34 LIGO Laboratory - MS 16NW-145
Pasadena CA 91125 Cambridge, MA 01239

Phone (626) 395-212 Phone (617) 253-4824
Fax (626) 304-9834 Fax (617) 253-7014
E-mail: info@ligo.caltech.edu E-mail: info@ligo.mit.edu

www: http://www.ligo.caltech.edu/




10

134

L ey o .

cup spring

X i

|
LS ‘ 1 [/
gy ==
N\ )

75T
=
: S
Zoaa|

Socket head screw M3x12 n°2 pieces

Flat head screw M2.5x10 n°8 pieces

Socket head screw M5x25 n°4 pieces
Cylindrical spiral spring De=8, di=6, d wire
Socket head screw M3x16 n°16 pieces

Flat head screw M3x12 n°2 pieces

Flat head screw M5x50 n®B pieces

NOTE 1 - The horizontal accelerometer
body is built in 5 steps

STEP 1 - mechanics DWG 1
STEP 2 - pre-cut EOM owG 2
STEP 3 - electro-polish holes DWG 3-4
STEP 4 - final cuts EDM DWG 5
STEP 5 - releagse + delivery DWG 6
NOTE 2 - Copper-beryl|ium
Material characteristic: C 17200 cube 2

alloy 25, HV 380-420, N/mm2 1200-1500.
98% copper. 1.8% beryllium. 0.2% cobalt

Size Al

last modification 14-11-00
modifications
9 002 [outer electrode insulat, 18 | 004 | spacer
8 006 |range limited pin 17 | 007 | magnet
7 006 | locking screw bottom 16 | 007 |coil
6 006 |locking screw top 15 | 006 puter electrode insulat.
5 004 |side cover 14 | 006 |inner electrode
4 006 |end cover 13 | 004 | retention spring
3 006 | bracket 12 | 006 |levelling wedge
2 006 [frequency tuning weight 11 | 006 |nner electrode insulat.|
1 001 | body 10 | 006 [inner electrode
o T | o S S BT
Bertolini
cesignea for University-Pisa
3@ LIGO PROJECT [ . co o000

HOR. ACCELEROMETER

ASSEMBLY — FOERTH VERSION

oo PROMEC 28-6-00

scote 111

reploces or. Nore.

9 |

10




2 3 4 S © i 8 9 10
@8M p.1
L @6 _reamed
71.5 |
D4Mx8 l |
18.5 T
|
1 T | - 4 /] ./
777777777777777 I
g © o |
~ I X AN A ] ~ -~
E >0 -9 7 ;
< <~> ' '
,,,,,,,,,,,,,, e
|

140 chamf. 1x45°
©5.3 n°8 thr. holes
@5 thr.hole reamed
10 ) 60 ) 60 ) —
IR
=‘>ﬂ @3.5 n°4 thr.holes
@4Mx10
b |
N _ /. FLL L2 -
; . 7 X 123.5 T 120
- ©
@ 6 & - ! 93':2 w © 15
2 1 @3 typical @ 105
T - 26
&
237 depth 21.5 /
" j‘—L
L } —i| i —
5 19.5 -
| 8 I I —
© =
D3Mx6 9 >
T fro drill 13| | 40.85 ®
33.5
R2.5 |
. K 25.85
@ : {b d=5 23 typical
w - - °4 thr. hol I N e — r
l | ! ! n rehe esm @ 4Mx10 depth 21.5
[ - - o
4\\ T _o depth 21. _a
|
@ ° < © © T L)‘ L— *J e
°3 @1 26
2 =] a2
10 60 60
194
<
S
18.5 18.5 3
2ax10 24Mx10 e
X 40 * First step: machining
7.5x8 Q1=
2=
n % The mechanics must be completely assembled
N and verified before step two
@ é 44—@ ® +l
' ' @26 reamed . _/ T & | _ =1 | AR e 1 7‘7777 T,\
= < =
Q = Vs
24 reamed — 24 | S e B e o B E T Iast modification la-11-00
rz /7 . wote e e
chamf. 1x45° 7001 L mod! ications
o
47.5 40 A P T
31.5
. [
on both sides 82 29
1 1 |copper-beryllium 1:1
© o = ot [orece|_mr. o weamars | aeate | | ror. |otecss] o ara rrmnts | semte
Simsions [ < =~ wu-i20 [ =rz0-3s | 3vs-om | =vona-zo | >z000-too0 | s
_ oo tort [ 201 |40z [ 203 | wos | sos | sz | 2 | +s
o pa I PN NS T T rererss 10 e srrast v
- . uB_srto\_‘me'P_
" i cesignea for UNiversity-Pisa
T ‘ 1 T EF+@| LIGO PROJECT [, so0 nor.o0r
arov. 28-6-00
28M p1 . Hitle PROMEC
scale 2:1 28M pi Size A1 HOR. ACCELEROMETER |aris w000
BODY — FOURTH VERSION reploces ar. b,
|
2 3 4 N I I O O I I | T 8 9 | 10




118.45
123.55

o 0
< 8
° . ?
S o
‘ 2 <
115
105
100
33.5__
25.85
07
w
<
©
w0 /‘ryp?co\
0 | 3613
: = - 34.75

1y

65

@5M n°4 holes

118.45

123.55

52.

R0.5 typfcal

typical

40

36.7

31.5

scale 2:1

147

|
n
a
g
)
2
o
g
g

STEP 2 mask

Size A

34.7

(95%5%

Second step: First EDM machining
with wire of 150xm

last modification 14-11-00
s Froations
9 1 peek
9.1 1 AISI 430
or. e e rermars | sere | [ cer [ sree]_wor on womeoms | s
e g o e B
Dirersios [ =5 =630 ~30-120 [ 120315 | =315-1000 | =1o0p-zoun | =20004000 | = saao
Viveor Toit._ | 201 [0 | 203 | w05 | wos | xrz it 5
o o a1 [zw] v | L0 ratersd 1o e shartest s
Bertoli
@ oesignes fer University-Pisa
€3F@| LIGO PROJECT [, .o nor.oo
title oraw. PROMEC 28-6-00
HOR. ACCELEROMETER |umuis won 000-005
BODY - FOURTH VERSION replocas or. .




[an) (@) [m) Ll L O
=]
10 60 60
—
= 6{
T o 9 =
-
™ |
i
9 9
\ 70 |
!
|
n i Eyd
~ — .
& g
- < i
| .
! |
é}) - @5M n°10 thr. holes
i
1
| 1y 5 /
| . &)— i _D— LB— i g
i ; H ! Z
[
10 | 60 60
— |
|
35 ‘ last modification 14-11-00
ref. nate date signature
@ 140 modifications

22

1

UNT 3006/4

ref. | pieces

mat. and treatments scole

ref. | pieces| mat. and treatments

scale

General machining talerances UNI 5307-63

Size A2

Dimens ons <6 [=630]>30-120 [~ 120315 [ =315-1000 | =1000-2000 | >2000-4000 | = 4000
ioser o, [201 [z0 [ 2o | w05 | xow | =2 | sz | 3
angular Toll. E + 30" + 20" + 10" refered to the shortest side
Bertolini
designed for University—-Pisa
34| LIGO PROJECT [, ,eo ror.o0s
title arav. PROMEC 28-6-00

HOR. ACCELEROMETER

BODY — FOURTH VERSION

details fron 005

replaces dr. Nutb.

&)




< Sl a o] Lo} r
56
12 10 60 60
=~ ’(; —= 6
1 © “
Tf B
<
" |
¢ &
10
o~ < |
N |
o e o 4
~ - |
S o . 2
& o i
— i <
= \ —q} @5.3 n°10 thr. holes
2 ¢ T
3 —_— |
! {b/
e & ,f
@3.5 n°6 thr. holes |
28 T ;
chomf. 0.5x45° 10 ! eo 60
4.3 N°2 thr. holes — T
@ =
) 140
122
44.5
@5M n°8 holes 8 21
3 \Oj [ T T 13.5
] _ 14
L —?ﬁ‘rr _
T I
RS =
R7.5
o T
2
98
thickness 0.3
i & 7§ o &
g A - -
107 56
12
o — ’(— 46
" L
| - _ o %5*
féc I ? - v S T
@ ¥ = T ke :
] 3
—=
chamf. 0.5x45° Y
chamr. 29X, ke 33
@3M on both sides
N
I < v
& & l S *5 ;
n
16 R o a
58 24.3 N°2 -
[N
N b
] v T i "
122 5
44.5
5.3 n°8 holes 8 ‘)‘ 28 L
chamf. 0.5x45°

14020.1

98
107
°
°
s p—
I \J{b%
2

53

J

@3M on both sides

chamf.

0.5x457

=

By

125

—

@3M n°2 thr.holes

@3.5 n°6 thr. hol

Size A1

es

last modification 14-11-00
o P
s T carions
18.1 1 |copper—beryll.| 1:1
18 1 |copper—beryll. | 1:1
13 6 |copper—beryll.| 2:1
5.1 1 1:1
5 1 1:1 21 1 |UNI 9006/4 1:1
P e e v | PR e P
e e
Srmeios [ <5 [sem =0 [~ mas [ =ars-io0 | o000 | 20wt | = 4o
Vo 10201 [s02 | 205 | 203 | 208 | =12 | 27 | &3
oo tor |1 [sw] 2o | Torarered 1o u virtast sie
Bertoli
cesignea ter niversity-Pisa
€@ | LIGO PROJECT [, oo ror.00s
Hitle oraw. PROMEC 28-6-00
HOR. ACCELEROMETER |wauem o000
DETAILS - FOURTH VERSION replocas or. .




122

_— —
0.15 0.15
15
Mias o T N
105 105 iy
D 98.5
Leh- ()06 n°4 thr. holes |
‘ D
% !
Y Shbb bbb
K ‘ .
O« & o :
33.5 3L 33.5
25.85 ~ A ‘
{b ¢
<
o i _ 0
| .
° poun 3 283
o - ~ P A A L
N ’ +0&
-2xd8 S coc gaaRE
(%) To drill between second step ond fourth step.
(Forore tra i1 secondo e quarto step.)
L 1
2
» ez
2 fL -
scale 2:1 scale 2:1
10 60 60
8
L] - vl
- ° )
E 7@ < . 4
T o 3 T 7
! K= ) 190 )
L 65
| ﬁ* l }<—> @5M n°4 holes
[ @5M n*6 holes
o /
~
=
N 5.3 n"6 thr. holes
< —
b
]
S ol - 7
I 10 *J 30 L
10 = ’
— thickness 8
35 JE—
Internal dimensions |ike det. 17

Third step: Final EDM machining.
Complete cuts using plates 19 and 20.
to sandwitch body 1 as temporary
blocking jig.

last modification 14-11-00

rar. nate aae st

modi ications

ret. | oisces| mor. arw weormemts | scate | | ret. | oreces| mor. ona wroomenrs | acare

e i o T O e
T P e ) S e e e )

Yo o w0 [0z [ o5 | wos | sox | wie | sz | e

P S P ST T rarees vo e servest s

Bertoli
cesignea ter niversity-Pisa
€@ | LIGO PROJECT [, oo ror 00
arow. PROMEC 28-6-00

Size A HOR. ACCELEROMETER |t «on 000
BODY - FOURTH VERSION

Tine

STEP 4 mask

replocas or. .

20 1 AISI 430 1:1
N o [ ., 12
Il




m

80.01

60°

57.5
20
3 knur | ed
o 35 o "
® 3 & N
[ }» + N
— «Q
I f
3.5 T
212
"
chamf. 1x45°
27.5 8
29
19.5
6
@8 pl © | e
o)
1 <
| « l
i o
. : ©
b N
2
s —]
111001 2.6

L I

17

T
26

@21

I
i

0.03
2875

Drill central

hole andcounter
sink for o flat head screw in
mi |l ingmachine to fransfer
positioning precision

~0.004
@6,0.012

Fourth step:
releasing plates 13 and 16 used
tightening screws 6.7 0.05 Nm maximum.

@

< N} a o] Lo} r
chanf. 0.5x45°
122
@3.5 N°6 eﬂ
16 48 16
1 N
oo .| 0 _+= _
e T T i
] T
2
|
o Al R1.5 . ,‘ s L. s
R7.5 =
@4.3 N°2 + L
o - < .
w0 hel
104 °
108 ] 5
LI 3 = B
@12
26.7
@671
l |
‘ a
- ‘ chamf . 1x45
| |
T ] i
° i 28 p.1
- .
- T |
2 !
|
o
AL o~
N

Mount screws 6,7 before
in step four.

n°®1 piece
last madification [14-11-00
= P
roaiTiestions
8 | 1 |AISI 304-316]2:1 [[ 15| 1 | peek 101
7 | . 2:1 || 14| 2 popper-beryllf 2:1
6 |2 " 201 | [r2.q] 1 [A1sT 304-316 [ 1:1
4 | 2 kopper-beryll] 111 12 | 1 |AIST 304-316 ] 111
3 4 |AISI 304-316 | 1:1 " 2 | peek 2:1
2 2 |copper-beryll-| 1:1 10 2 fpopper-beryl || 2:1
o [rec] e wemmars | e | [ o] oo veamrs | s
e e
Dirensions | <6 |=6-30] >30-120 [ = 120-315 | =315-1000 | ~1000-2000 | ~2000-4000 | = a0
Vo 10201 [s02 | 205 | 203 | 208 | =12 | 27 | &3
n°1 piece agutor ol | 41 | sw | a0 | © 10 refared o the shorfast side
Berto
cesignea ter niversity-Pisa
EF@| LIGO PROJECT [, oo nor 006
title arow. PROMEC 28-6-00
Size Al HOR. ACCELEROMETER |wouem 000
DETAILS - FOURTH VERSION replocas or. . ‘




@250 —] <~

nickel plated

-0.03
0.5 225200

S

9.4

17
[

NNHN

nickel plated

lasT modification 14-11-00
8.5 ref. note date signature
= modifications
17| 1 | peek 23
16.2] 1 ARMCO 23
7777777 1 _ 6.1 1 " 211
16 1 " 2:1
ref. pieces mat. and treatments scale ref. pieces mat. and treatments scale
General machining tolerances UN[ 5307-63
Dimensions <6 =6-30| =30-120 | =120-315 =>315-1000 =>1000-2000 | =2000-4000 > 4000
° linear Toll. +0.1 | £0.2 + 0.3 + 0.5 + 0.8 +1.2 + 2 +3
16.272] nickel plated ‘
angular Toll. +1 + 30" + 20 + 10" refered to the shortest side

Bertolini
designed for UNiversity—-Pisa

=3-@| LIGO PROJECT [, oo ror.oor

P arov. PROMEC 28-6-00
Size A3 HOR. ACCELEROMETER |woiorm 000
DETAILS - FOURTH VERSION

replaces dr. Numb.

W 4



@‘

@A

@‘

| L L] 2 - i |
e R | A

m Newport—Fine adjustment screws
' models AJS—1/ n°2 pieces

last modification 14-11-00

ref. note date sionature

modifications

24 | 009 | wedge's guide

23 009 | spacer

ref. arow. added 18gend rof. drow. added |egend

‘ ) 7©7 7©7 7©7 ) designed for nBTevreté‘Iml isa
@ ‘ ‘ ‘ & £96| LIGO PROJECT [ oo

e aov. PROMEC 1-11-00

Sise a2l | HOR. ACCELEROMETER |uwee 1:1

VERTIVAL ADJUSTMENT

2 3 LT T T T 1T 1T 1T 1T T 5 I 6 I 7




5.5
chant. 3x4b5°

! R 6

9.7 —

—= 65
56 23 | 2 | UNI 9006/4 1:1 24| 2 | AISI 304 131
ref. | pieces mat. and treatments scale ref. | pieces mat. and treatments scale
General machining tolerances UNI 5307-63
Dimensions <6 >6-30| =30-120 | =120-315 >315-1000 =>1000-2000 | =>2000-4000 > 4000
l'inear Toll. +0.1 | 0.2 + 0.3 + 0.5 + 0.8 + 1.2 +2 +3
angular Toll. + 1 + 30" + 20 + 10’ refered to the shortest side
Bertolini
designed for UNiversity—-Pisa
=34@®| LIGO PROJECT [, o ror o0s
, graw. PROMEC 1-11-00
last modification 14-11-00 WQOR ACCELEROMETER
S \ e AB ref. note date signature details from Q08
modificat i pns DETAILS reploces ar. Nurb.

] \ 2 L T T T 1T T 0 T 1T T 1T 1 1 5 6




